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CERTIFICATE IN SERICULTURE (CIS) 

Term-End Examination 

December, 2016 

BLPI-003 : SILKWORM REARING 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions only. All questions carry 

equal marks. 

1. Describe the different growth stages of mulberry 10 
silkworm. 

2. Describe the different steps to be followed for 10 
maintaining the hygiene in silkworm rearing 
house. 

What are the characteristics of an ideal 	5 
silkworm rearing house ? 
Draw a plan of chawki rearing house for 	5 
5,000 dfls per crop of silkworm. 

	

4. 	Write short notes on the following : 	 2x5=10 
(a) Black boxing of silkworm eggs 
(b) Brushing of silkworm larvae 

	

5. 	(a) Define Chawki silkworm. Explain the 
method of selection of mulberry leaves for 
feeding Chawki worms. 	 2+3=5 

(b) What are the characteristics of lateage 	5 
silkworms ? 
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6. Define mounting. Describe the different types of 10 
mountages used in silkworm cocooning. 

7. Describe in details rearing of Eri silkworms. 	10 

8. Write short notes on the following : 
(a) Sorting of cocoons 
(b) Break-even point 

2x5=10 
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